
Hazard controls to mitigate risk include:
Eliminate the Hazard – choose a different process, modify an
existing process, sub
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[(ta)-5.8 (s)-4.9 (k)-16.2 (s)]TJ
-0.033 Tc 0.033 Tw 2.705 0 Td
(at)Tj
1.284 0 Td
[(N)-4.2 (or)4.5 (t)6.4 (hw)7.2 (es)1.1 (t)6.3 (er)4.6 (n)]TJ
-0.038 Tc 0.038 Tw 6.057 0 Td
[(a)-4.7 (re)]TJ
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[(i)7.2 (m)-6.8 (pos)1.1 (s)1.1 (i)-4.2 (bl)-4.1 (e)]TJ
4.864 0 Td
[(f)-5 (or)]TJ
-0.045 Tc 0.045 Tw 1.545 0 Td
[(y)0.5 (o)-11.8 (u)]TJ
-0.033 Tc 0.033 Tw 1.977 0 Td
(and)Tj
-0.045 Tc 0.045 Tw 2.045 0 Td
[(y)0.5 (o)-11.8 (u)-23.1 (r)]TJ
-0.033 Tc 0.033 Tw -17.307 -1.136 Td
[(t)6.4 (eam)]TJ
2.568 0 Td
[(m)-6.8 (e)11.6 (m)-6.8 (ber)4.6 (s)]TJ
-0.039 Tc 0.039 Tw 4.42 0 Td
(to)Tj
1.239 0 Td
[(s)-4.9 (ta)-5.8 (y)]TJ
2.17 0 Td
[(s)-4.9 (a)-5.7 (fe)]TJ
0 Tc 0 Tw 1.75 0 Td
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-0.031 Tc 0.031 Tw 0.727 0 Td
(To)Tj
-0.034 Tc 0.034 Tw 1.591 0 Td
[(a)-0.7 (cco)10.6 (m)-7.8 (p)10.6 (l)-5.1 (i)-5.2 (sh)]TJ
-0.039 Tc 0.039 Tw -14.466 -1.136 Td
[(th)-5.8 (i)-10.1 (s)-5 (,)]TJ
-0.033 Tc 0.033 Tw 1.989 0 Td
[(t)6.4 (her)4.5 (e)]TJ
-0.038 Tc 0.038 Tw 2.432 0 Td
[(a)-4.7 (re)]TJ
-0.033 Tc 0.033 Tw 1.67 0 Td
[(s)1.1 (e)-11.1 (v)12.4 (er)4.6 (al)]TJ
3.33 0 Td
[(c)1.1 (om)4.5 (m)-6.8 (on)]TJ
3.955 0 Td
[(m)-6.8 (et)6.4 (hods)]TJ
0 Tc 0 Tw 3.602 0 Td
(;)Tj
-0.033 Tc 0.033 Tw 0.568 0 Td
(one)Tj
-17.545 -1.136 Td
[(m)-6.8 (et)6.4 (hod)]TJ
-0.029 Tc 0.029 Tw 3.398 0 Td
(is)Tj
0 Tc 0 Tw 0.92 0 Td
(a)Tj
-0.034 Tc 0.034 Tw 0.773 0 Td
[(Jo)-0.7 (b)]TJ
-0.033 Tc 0.033 Tw 1.773 0 Td
[(H)-4.2 (az)12.4 (ar)4.5 (d)]TJ
-0.045 Tc 0.045 Tw 3.273 0 Td
[(A)-14.4 (na)-11.7 (l)-16.2 (ys)-10.9 (i)-16.2 (s)]TJ
-0.038 Tc 0.038 Tw 3.705 0 Td
[((J)-3.9 (H)-9.1 (A)-7.4 (),)]TJ
-0.04 Tc 0.04 Tw 2.886 0 Td
[(wh)-6.7 (i)-11.2 (c)-5.9 (h)]TJ
-0.029 Tc 0.029 Tw -16.727 -1.136 Td
(is)Tj
0 Tc 0 Tw 1.011 0 Td
(a)Tj
-0.033 Tc 0.033 Tw 0.875 0 Td
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2.443 0 Td
[(anal)-4.2 (y)12.5 (s)1 (i)-4.1 (s)]TJ
3.693 0 Td
(of)Tj
1.125 0 Td
[(eac)1.1 (h)]TJ
-0.039 Tc 0.039 Tw 2.375 0 Td
[(s)-4.9 (te)-5.7 (p)]TJ
-0.033 Tc 0.033 Tw 2.102 0 Td
(of)Tj
0 Tc 0 Tw 1.125 0 Td
(a)Tj
-0.034 Tc 0.034 Tw 0.875 0 Td
[(p)-0.7 (r)3.5 (o)-0.7 (ce)-0.7 (ss,)]TJ
-0.033 Tc 0.033 Tw -15.625 -1.136 Td
[(as)1 (s)1.1 (oc)1.1 (i)-4.2 (at)6.3 (ed)]TJ
4.864 0 Td
[( 0.034 Tw 0.875 0 Td
[(.56-11.8 ( -15.6J Td
[ (eas)1.1 ( Tw)]TJ
-0.(eas)1Td
[(eac)1.1 (c 0.0363 )]TJ
-9Td
[( 0.087 0 Td
[(i)-4.2 (s)1.1 (oc)1.10.03.s( 0.08p1)4.5  (oc(s)10 T 0 Td
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-0.(eas)136 Td
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3.693 0 Td
(o71 0 Td
-115.0363 )]TJ
-9Td
[1.1369-4.2 (m)4.6 x(at)6.30.033 Tw 2.5s1Td
[(eac)1.1 (c ou
[(s)1.1)1.1 (oc)1.(a)Tj
-0.034 T5 0.045 Tw 2.t)5-4.2 (o)-Td
[k(wh)-6.7sTJ
-0.(e0.034 Tw 1.su7 (r)3.5h(te)-5.7 (p)]TJ
-0.033 Tc 65.0363 )-1.1 T 0 TdaTt)Tw -17.307 -1.136 Tho.67 0 Td
ar)4.6 4033 Tw 1.12ent)6.4 (e)-11.i)-4 0.5.1 (e)-11. (now)7.1 (i)-4.2 ((,)]TJ
-0.029 Tc 0(ed)]TJ
4.1.12)0.5 (4)-4.lt4safety considerations in your plan can help keep you and your loved ones safe at

home. Keep the following in mind:

o Working with or on utilities (e.g., electrical circuits, plumbing) can be dangerous and
cause extensive damage; do not touch these if you are not competent or qualified.

o Whether knives in a kitchen or tools in the garage, keep sharp or dangerous objects and
tools out of ehs@northwestern.edu

.

While you can develop a written Safe Operating Procedure for high-risk
jobs, safe job planning can be done anytime by:
• Considering each job step in the correct sequence they are performed,

noting who will be performing each step
• Brainstorming potential and actual hazards for each step, including any

uncontrolled conditions/activities that can result in injury/illness
• Considering the specific hazard controls that can reduce the risk

Tips for Success
When Talking to Your Team

Preparation is Key: Keep the topic
relevant. Work with your team to
review hazardous tasks in your
workplace that may require an SOP
or hazard assessment and discuss
how the hazards can be avoided.

Stay Positive: Keep the focus on
what can

Hand/armsmuscle strain
Breathingin respirable dust
Working at heights

Paint the walls Hand/armsmuscle strain
Breathing in paint fumesWorkingat heights

le
as

t e
ffe

ct
iv

e 
   

   
   

   
   

m
os

t e
ffe

ct
iv

e

If you have any safety concerns that need to be addressed, Environmental
Health & Safety (EHS) can help develop a Safe Operating Procedure,
conduct a formal hazard assessment, and more.

Consider the potential
hazards in the painting
example to the right; what
hazard controls could you
put into place to mitigate
the risk of each of the
potential hazards?
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